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MATHECMATICS By Pradesp Sic

Ql. A can do a work in 6§ days while B can do

same work in 16-; days. How long (in days) will
it take if they do the work together?

A TS BT 6- foat A B¢ Hbar ¢ wafds B 38 ST &I

16> foat & B2 Fwar ¢, A Al AeHe 380 T B
fFaaRaAEIsz S92

O OLE

(»)) 5;—:




MATHEMATICS

Q2. A can do a work in 72 days and B in 90 days.
If they work on it together for 10 days, then
what fraction of work is left?

A 72 Rt & v &1 &2 TAdar & 32 B IA 90 =
A H¢ TFHar 21 af2 3 10 R & B¢ v A1 S
&Hea &, Al BTA &1 fBaen e a9 AT ?

OF

OF



MATHEMATICS D

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in 3 days what
percent of the total work will be completed?

A TS BT B 20 sl 3 Qr1 S5 Abar § a1 B 32
&1 @1 25 s 3 ye1 B¢ THar 21 Afe el fAS®e
&1 &, at 3 A @ i &1 fbaen ufded
&1 P21 2 AT ? —

(A)9 (B) 12

450
-




MATHEMATICS

Q4. A can complete 50% of a jobin 9daysand B
can complete 25% of the job in 9 days if they
worked alone. If they worked together how
much of the job (in %) can they complete in 9
days?

A 9 f3ai & 50% HTHA PRI & Abar g e B 9 Rl A
mmmzsx?mmtl 3PS IS
PG tIaRATE A BABAcatofRa A
faen &1 (% A) R Adarg ?



MATHEMATICS

Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4

days what percent of the total work will be
completed?

A2 U B B 7.5 el & Q1 B2 TAHar § qa
mmmﬁlz.sﬁﬁiqammémﬁ
dlal fAoee 4 e &1d &2, dt $ S &1

wfdera &1 g1 8 Ardom 2

(A) 82.5% (B) 80.1%

() 75.5%



MATHEMATICS

Q6. A can do 1/5th of a work in 4 days 1/6th of
the same work in 5 days. In how many days
they can finish the work, if they work together?

A faseft &1 &1 1/5aT 311 4 s & & THar g, B
32t &1 &1 1/6aT 391 5 RSl A B2 Adar 1Al @
TS A1 fAS®e &1d Hea ¢ al 38 a1 &1 fbaa
RAfA IS asa e ?

@30

(c)20 (D)15



MATHEMATICS

By Pradeep Sir

Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

MUS B B13/4 APT12 RA A BT ABATE dATN

mm%7maﬁaimm | el
fAe®e g B &1 11/14 o191 fabael fRst A B9 2

(B)9
(D)6
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MATHEMATICS

By Pradeep Sir

Q8. A can do 2/5 of a work in 12 days while B can
do ¢¢ %/ of the same work in 16 days. They
work together for 10 days. B alone will complete
the remaining work in:

A TS B1d & 2/5 o1 Bt 12 Rt A, safds B 3t
B & (o 51T B 16 R A Y1 B2 Abar 213 10
fesil a6 v a1l fRAe®e B1d ded 21 29 HTd HI B
b fhaafeal A

YT e eI ?

(R 4o

(C) 8days (D) 9days
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By Pradeep Sir

Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.

How many days would B take to do the job if he
worked alone?

A 312 B fR®e vs &1 6.75 e & QeI @ea € 32
A 3 Tdt &1 9 el A 1 B APbar 21 afe B
ﬁuﬁwmmmmmwmﬁﬁmﬁ



MATHEMATICS e

Q0. A and B can do a job in 10 days
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next three days. How
long will C along take to finish 60% of the job

?

A 312 B &1 &I B2l 10 312 5 fa1 H 2 THa 21
2l v AT fAeS®e a® &1l &ed £, 3T
dREBHFRATHTUZC dtar s & gz 281 rarn

flmcmmaﬂsox AT fabaat ot & gt
HeIM ?

(A) 30 days/fé=t (B) 25 days/fé=t

(0) 24 days /R




MATHEMATICS

QIl. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how
much time can they complete the work?

xfFfsd s RaA s asarg, vyt s d &
et It &1 8 et A B AHa1 g 3R 2z T HA &
Ui I &1 12 R & &z a®ar g1 afe § vas Ty
wfafdst 6 He 1A Hea €, al Ioid greT B B! GeI
&eal A B9 ATST HAY SiTd Bl

(A) 4 hours

[ S

. B . -
C) 5 hours 20 minutes

ours IV minutes
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By Pradeep Sir
— | ;‘2 _
L = v i :D Q12. A can do a work in l4§ days. Bcando it in
a3 16§ days and D candoitin 33% daysand A, B, C
s B - |6 3 2 (597, and D together can do the work in 5 days. In
& how many days C can do it?

L 5 [ioo
A :e,jib A faselft @1a1 @Y 14 a1 A B2 Twar ¢ e 32t s =t
do f\ @ 47),3;53 ls-ﬁa#mmtaanonﬁmas’tas-tx B,C
3tz D fAS® B B 5 el A B a®A &, al ©

@ Lem HHo1 I8 B ! fbaa fEail A Heam?

@2

@ cs ~Z25D (c) 20 (D) 40
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By Pradeep Sir

Q13. Sandeep do (t;)th of work in 10 days, Kapil
can do 40% of work in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKkumar
can do 37.5% of work in 17days. Who is less
efficient?

&, 10 2 A &1 BT (1) P 2 TAhdl &, BfUS
15 2ol & B BT 40% B Fawall 1 302 2320113
foall & @1t &1 (1/3) P1 B2 Abal g1 3R TAG AT
17 R & STt BT 37.5% AP He Al 21 ATd B

S PATad FAPASE ?
(a) Sandi;g:ﬂ?l
(B) Kapil

an/cacey

b) Rjkumorlm



aﬁ#'ﬁ%aﬁﬁa?ﬁ
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By Pradeep Sir

Ql4. Aand Bcando gof workinl2days,Band C

can dc 16§ % the same work in 10 days & C and

— r_él*": ’é" =10 3 60D A can do g in 13 days. In how many days A, B
and C can do this work together?

— [HE]= -2 =13 % 200 A 3012 B fAesee daTel S191 &1 - o1 12 et & &2
Hba g1 B dAT ¢ fASHe 32t H131 116 2% 3P 10
5 - f(A+8+C) lem= 6o fast A &2 APHA g1 C AT A [RGB HATA HTH BT —
a1 13 R A Be Twa 21 3 el Pose B Bt

R 5= (A*BrC) Hea A fbdal AHT S9-

2o
5o 5 40 (B) 26 Days

% - (C) 36 Days (D) 20 Days
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Q15. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and C
can do the same work in 36 days. In how many

days will they alone the complete work?
_—

A et &f & vH-fazTE &1 15 3T A &2 Tbar 2
B 32t &1 & 75% 9T 1 18 faa A 312 ¢ 3t &=
aﬂseﬁaﬂﬁaﬂmilﬁﬁmmaﬁ
ﬁmﬁﬁ?ﬂa}aﬁm

(A) == days/ReH (B) - days/Reil

(c) 2 days/R=lT# | (D) 2= days/fRail &



MATHEMATICS e el

Q16. A and B can complete a task in 25 days. B
alone can complet 33%‘[.of the same task in 15
days. In how many'days can A alone complete
listh of the same tasé’\@

A 3iiz B faseft &rf &t 25 ot A Q@1 B2 THA 218
IS IABA S 33 /. BI5RA4A RIS

m%,a‘lmm’uaﬁmmaﬂ'd‘aﬂf—saim
faat e A ger Heon 2

(c)18 (D) 12
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By Pradeep Sir

Q17. Working together A, B and C can finish a
piece of work in 3 hours A finishes the same
work in 8 hours, B finishes it in 6 hours. How
long will it take for C alone to finish the same

work?
A & A1 BT Hed ZC A, B 312 ¢ fheft srf &1 3 52
4B — € houd H TATE B2 TDA 21 A APST 39 BT BI 8 HE A
AT Hedl &, 312 B H 1 3A 6 He A A" Hedl
lem=- gy | Elc3aBRI S fhaat
He A AT HeIN ?
C = Ay 20 (A) 2u hr/ee (B) 15 hr/de

(C)18 hrf=e (D) 12 hr/He
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A B C
qJoe | 15
E—-> Y &5 - 3
_6o
~H&
P |5 D
=< 5D
558 — a9 .
ﬂxq:) 3Q -['UJ'_\SXW
- =) 62
) — 26
CHE = AN _ =M

By Pradeep Sir

Q18. A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together for
4 days. C alone completed the remaining work
in 8 days. A, B and C together will complete the
same work in?

ATSE fAfda Brd &1 15 Rl A Fe TAHaT21B, A A
25% 3iftles Hele &1 Aell o fA@®e 4 el ad B
fdan ¢ & &S 2l B 8 sl A g1 fHan A, B

3 ¢ fRAS®e 32t B 1 fdaat il & Ge1 B2t 2

(A) 4 dayslﬁﬂ (5)) 6% days/féat




MATHEMATICS By Pradeep Sic

Q19. A and B can complete a piece of work in 15
days and 10 days respectively. They got a
contract to complete the work for 75000. The
share of B (in) in the contracted money will be:

A 32 B fhft &1 B HaALr: lsﬁa’taﬂzmﬁsﬂa}

%mmilwmaﬁnsooo zﬁl
It bl (Picae) AN 56 &t a?aasr

fezan (z &) 2m:

(A) 35,000 (B) 40,000

e)30000
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By Pradeep Sir

Q20. A and B can complete a piece of work in
4.5 days and 9.9 days respectively, They got a
contract to complete the work for 80000. The
share of A (in) in the contracted money will be:

A 312 B feft 1a1 &1 Haten: 4.5 fRat s 9.9 fRaii &
%mmilwmaﬁzaooooazﬁmas

It ol (Bigae) AT & &Hit zfel & A &1
fezar (z ) gom:

(A) 2 45,000

(c) 240,000 (YEELL
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By Pradeep Sir
Q21. If A had worked alone he would have taken

63 hours to do the task) What is B's share, if A
and B work together on a task finishing it in 36

hours and they get paid Rs 5,950 for it?

afe A & b 1A fBar gar al 98 B ol &
f3T 63 T Sarl B &1 2T &1 €91, 391 A 3l B
TS T BTHA B 38 36 U2 A JIATE Hed £ 30
38 3T 5,950 TUT &1 3PFTaTel fHATATATE ?

(A) 3400 (B) 3600

(D) 2750
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By Pradeep Sir

Q23. A can do a work in 8 days, B can do the
same work in 10 days and C can do the same
work in 12 days. If all three of them do the same
work together and they are paid Rs 7400, then
what is the share (in ng of B?

ACTH B Bl 8 RaA FeABAIE, BIH T drRA BT 10
fasi A e Abhdal & a1 ¢ IH FrA Bt 12 e A B2
THdl g1 afe d dief 380 &1 &1 T A RS s Hea

£ deT 3oz 2 7400 . fRe T1d €, 4t B &1 2z (5. )
fdaet g ?

(A) 2600 (B) 3000
(c) 2400 (D) 2000




